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1TBX 1T B X 4 3 S 7t o ATEX 1T B X 4 5 S it it H | ATBIX 1T B X 4 53 % 5t i
1/ER 79 93 172 51 201 |'& 7 R 381 405 786 303 316 |FHABEEN 647 664 1,311 354
0) Hn C 1 (—TH) 21 C i 3 OSTH) 0/ C 1 1)
2T | 383 395 778 304 202 &7 D 673 721 1,394 581 N7 HAEE— 94 87 181 59
0) 5 | ( 5) (ZTH) 2) | ( 1) | ( 3) (T H) 0) | ( 0) 0)
3|l 78 85 163 52 203 |'E 7 FALER 575 570 1,145 440 318 |FHAEFEIN 0 0 0 0
0) 0) | ( 0) (ZTH) 1) | ( 2) | ( 3) (U\TH) 0) | ( 0) 0)
4|07 344 429 773 334 204 |'% 7 FALER 487 514 1,001 396 321 | HE— 58 49 107 31
0) 0) | ( 0) (T H) 2) | ( 2) | ( 4) (—TH1~4%H) 0) | ( 0) 0)
5— /B 68 62 130 37 211 |J& h ik 412 417 829 327 322 | HEE— 225 237 462 142
0) 0) | ( 0) (—TH) 0) | ( 1) | ( 1) (=T HAaH) 2) | ( 2) 4)
6 — /B4 85 83 168 50 212 |J& hktk 225 253 478 183 323 | HEE— 698 686 1,384 407
0) 1) | ( 1) (ZTH) 0) | ( 0) | ( 0) (=T B2 2) | ( 4) 6)
7= /M4 159 161 320 107 213 | /& htk 279 254 533 188 324 \FHEE 388 397 785 276
0) 0 C 0 (=TH) HDIC olC 1 (0T H1~17FH) 0 C 0 0)
8|&EFH 155 156 311 104 214 |J& h ik 363 375 738 300 325 | HEE 679 709 1,388 414
0) HniC 1 (uTH) 0/ C DIC 1 (ET B4 0 C 2 2)
9 7 H 53 43 96 27 221 |HITDOY—TH 584 621 1,205 433 326 | HEE— 350 388 738 212
0) HniC 1 0/C 0|C o0 OST H1~17FH) 0 C 2 2)
10 |5t 65 60 125 37 222 | HITOY"T H 701 693 1,394 504 327 | HEE = 886 917 1,803 523
0) 0 C 0 HIC 21 3 (T B4 0/ C 1 1)
11| K&E 42 47 89 23 223 |HITDOE=TH 836 827 1,663 612 328 | HF = 233 244 477 158
0) 0) | ( 0) 0) | ( 1) | ( 1) O\T BH43k) 0) | ( 0) 0)
12|45 5% 106 90 196 52 231 HEH—TH 623 643 1,266 444 329 |FKHEF = 4 4 8 6
0) 1) | ( 1) 0) | ( 0) | ( 0) (UT BH43k) 0) | ( 0) 0)
13| K& 45 49 94 23 232|HEE_TH 797 847 1,644 581 331 | pHE 2 12 14 14
0) 0. C 0 2/ 3| 5 (— 7T H5~8%FHh) 0 C 0 0)
14| 614 85 87 172 45 233 HEHR=TH 366 380 746 263 334 | HE = 441 427 868 321
0) 0. C 0 O/C DlC 1 ("UT B 18~28%fh) I C 4 7
15|HA 96 78 174 50 241 |[H:ThkE— T B 422 443 865 264 336 | FKHE — 460 477 937 268
0) 0/ 0 0 2/ 2 (ST H18~35%i) 0/ 0 0)
16 | P8 1% H 105 123 228 63 242 |¥:ThkE T B 294 298 592 172 401 | ER4AK—TH 701 744 1,445 448
0) nic 1 I/ 2] 5 4) | (3 7
20 |3EAKAh 280 280 560 191 301 | MG ASH— 443 494 937 355 402 | EROKR T H 0 0 0 0
0) 0 . C 0 (—TH) 0/ 0| o0 0/C 0 0)
101 | K15 328 355 683 254 302 | MG EE— 421 461 882 356 411 | KyEKk—TH 707 728 1435 409
(—TH) 1) HniC 2 (ZTH) NI 221C 3 5 C 3 8)
102 | K15 271 284 555 202 303 | HmpFE=TH 542 599 1,141 446 412 | KyEKZTH 353 368 721 224
(ZTH) 0) 0 C 0 NI 21C 3 Hn C 1 2)
111 O0&vE—TH 838 854 1,692 638 304 | HmIpGHE=— 1Y 160 197 357 164
4) I D 0/ 2 2
12|00 ETH 466 448 914 363 311 BHAEE— 583 634 1,217 413
0) 1) | ( 1) (—TH) 0) | ( 1) | ( 1)
121 |7 V—r v 259 245 504 160 312 HAEE 470 514 984 314
0) 0) | ( 0) (ZTH) 0) | ( 3) | ( 3)
140|EHDAK 222 216 438 162 13HABEE = 667 686 1,353 407
(—TH) 1) NniC 2 (=TH) NI 221C 3
141 |EHDAK 50 58 108 41 314|FHABEHE = 214 208 422 146
(—TH) 0) 0) | ( 0) (7T H) 2) | ( 0) | ( 2)
142 | LHDAK 345 361 706 261 315/HABEER 1,085 1,039 2,124 673
(ZTH) ( 2) | ( 6) | ( 8) (WWTH,HETH) 1) | ( 0) | ( 1)
() PIISEABGE L THVRE. (H24. 710) [ #B&35t] B 24536 A % 25373 A 5 49,909 A 17,162
KIZU—rbe id, OJVE—T BATBIXIZE D08, ERNCEFL TWET, ( 45N) ( 77N) ( 122.0)
SCOVFAAN 1%, M7 FITE KAZ & DM, EBNZERFLTOET, [ ATAXRE ] B 24483 A % 25339 A 5 49827 A 17,124 it
KIPAEET HIOTERAIT ATEX AT ROETYHOMIBAEE — | LRl CWET, [# &) B 4 A % 34 A 82 A 38 HH
( -1A) ( 0A) ( -1A)




